Film-Tech

The information contained in this Adobe Acrobat pdf
file is provided at your own risk and good judgment.

These manuals are designed to facilitate the
exchange of information related to cinema
projection and film handling, with no warranties nor
obligations from the authors, for qualified field
service engineers.

IT you are not a qualified technician, please make no
adjustments to anything you may read about in these
Adobe manual downloads.

www.film-tech.com|



http://www.film-tech.com/

NEUMADE PRODUCTS CORP.
2485 WALDEN AVENUE

BUFFALO. N. Y. 14225

TELEPHONE 'ﬁ REPAESINTED BY

(718) 684-0030-5% NEUMADE INDUSTRIES. INC.

i< s B

il st

NEUMADE MAKE-UP TABLE MODEJL No, C=1954-B

CURRENT AS OF 10-11-90

— N
Item Part No.
No. No. Req'd Description
C~1954-B complete M.U.T. assembly must state :
35MM or 35/70MM set-up 1
1 D-1973-A 1 M.U.T, cabinet only less legs i
2 C=1974-A 1 M.U.T. right hand leg assm less wheels 1
3 C-1975-A 1 M.U.T. left hand leg assm with cast feet
4 B-1976-A 1 M.U.T. cross brace
5 C-1954-5 2 wheels (13" wide x 6" dia)
6 C-1954-6 2 wheel arbor bolt (%" dia. x 13" 1g)
7 C-1954-7 4 flat washer (7/8" 0.D. x %" I1,D,)
8 C-1954-8 2 kep nut  (3/8"-16)
9 C-1954-9 1 mo tor
10 C~1954-10 1 motor pulley (2i" 0.D. x &" I,D.)
11 C=1954-11 1 terminal block
12 C-1954-12 1 brake resistor
13 C=1954-13 1 full wave bridge rectifier ;
14 C=1954-14 1 capacitor | ’
15 C-1954-15 1 capacitor clamp
16 C~1954~16 1 line cord to platter deck motor assm
17 C~1954-17 1 3 wire power cord with molded plug
18 C-1954-18 2 cord strain relief busing
19 C-1954-19 1 on-off switch
20  C-1954-20 1 variac :
21 C-1954-21 1 brake switch . ;
22 C-1954-22 1 make up take down switch ,
23 C-1954-23 1 fuse holder

MANUFACTURERS OF AUDIO.VISUAL, TELFVISION, FHOTOGRAPHIC AND MNOTION PICTURE EQUIPMENT ~SINCE 1018-



24
25
26
a7
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56

€-1954-24
C-1954-25
C-1954-26
C-1954~27
C-1954-28
C-1954-29
B~-1928-A
C-1954-31
A-~1965-2
A-1965-3
A-1965-4
C~-1954-35
B-1924-A
C-1954-37
C-1954-38
C-1954-39
C-1954~40
B-1961-A
B-1962-A
B-1963-A
B~1964-A
C-1954-45
C-1954-46
C-1954-47
C-1954-48
C~1954~49
C-1954-50
C-1954-51
C-1954-52
C-1954-53
C-1954-54
C-1954-55
C-1954-56
A-1940-A
A-1943-A
A-1945-A
A=1942-A

B )

B . T N .\ TR U G Sy . T & T ) & T G G G G

—t —
—_ e P B QO = = e TN NN AN = -

—-— b

knob for variac

control panel

25 watt light bulb

light bulb socket

plastic light panel

light bracket

3/4" dia main drive shaft

pulley key

collar 1}" 0.D. x 3/4" I.D. x 3" wide
ball plunger 5/16"~18

jam nuts 5/16"-18

flanged hearing 3/4" I.D.

flanged bearing bracket

pulley 3/4" I.D, x 8" 0.D,

5/16" dia drive belt

rubber adaptor holder

handle

35MM upper roller & bracket assem
35/70M41 upper roller & bracket assem
35MM lower roller & bracket assem
35/70tM lower roller & bracket assem
post ~ roller bracket

bracket - roller post

spacer -~ roller post

post screw 1/4-20 x 13" 1g, button hd,
spacer acrew 1/4-20 x 4" 1g, oo

leg mounting screws 1-20 x 3/8" lg button hd,

twist lock plus connector only
fuse (3AG=5A)
harness assem

cable ties

cross brace screws f10-32 x 3" 1lg. button hd,

cross brace nutg #10=32 kep nube

A dia 35 snap action spindle assm

5/16" dia 354 adj. snap action apindle assm

5/16" dia 35MM/R_9 key snap action spindle assm

é" dia TOMH snap action apindle nssm

ALY L S

e et A R e

-




o QS
M
Neumsps Maxs Ue Tase

Meopsr A8

C-1954-B
Sc .




e o ot W SR e Rn % i s e —ame e

. o
e CAN I

qq R OIAII40 ST N STONVETIOL
B T gwoe| Ruve' ¥ Somg CWANY WY s -
meve~y ' rwcmecy AVLY 3 uww o EI LI

Tom e WWwSE
Ae MILLINVYOD 002 WWESY JwpTD) BRSe)

‘ddOD SLONAOHA VRIS N WWSE LUV

opowWmAr B —

INYN

L+ ¥ -yy

» |
-
[}

Y-ilLQl-H ¢
T aWns B3 oy WW ST

D

Tt

U T IS QY| Ny

. 3
‘YS¢ AN Larg
« TS (2)

e Y o L)

FBWHBU D¥Le Woamir T ¥4

(=R ™
az..llvﬂ den3l

2l=-196i-a -
LN UNS3 92-

TINS5 g T WW 3T . tl-19bi -3 ¢
Tirg .j‘_ iOd-.S\.
o
'I_
N SFeT-Na

TEoN dwws Lsog du.MJou 2

)
290 -80\X 5

€ IV¥ID) BOEN A89] 5 RRLE

W-5561 Qg

A Y | v NOISIATY wag




-] B o=
UNQT- oMJ TUD !cﬂ‘hnuwiu.ﬂ:«ﬂﬂaﬂ—
“TU % T gros | Biea] 9 Loma OnioV Shi  wewna 2-+ L%l -

e NONmpery

arivy SH  uwm

8BS Arvurseve) sl

‘WRISY Jim
‘dHOD SLONAOKA

DIy
By wwol]/SE LMVd

opouime)N”

el 4N

-vw

SRR T

I@Z..N T A% ¥ ]

Aoy Ol \mn

INVYN
, F-5¢6/-n
TESWWEE e ey U844 Witw OL @
[
Sr-to%i-28

w3335 # nvllag 3 I % o1-%]

+1-Z%61-2s
TISHIWM SMLS wIIA~T P

qb—lmWW- l(‘

S

LAWNS P30y JWIL WW

W-O%6b|-W ¢

oL

FeqSR swh~y 4foj B0y

[x3

wive NOISIARA wAS

4

?

€-L¥Ti-H,

SRSVaT

L
1L

T3

Ww-S5sbl~-d,

dWwaD ited s vy B4

®

, (®
]
it ¥-2L81-Up
H=H D) IIuNs ¥a %y WWol
i
.-l
—.-lx
Jd. W -F790-U »

SR o9 Jd¥] WwoOL




el s

y-£76i -d TS .llrhﬂ!-uni-uuzi
1M~ A X | Fvoe | aive ono La ¥4 ) Y o

oy ' AwrTepy emicy SYy e

AL LILIBAne 002

“WESEY Juwny PITOy
‘dHOD $1.0NA0UHA

BBMOT WWSE LNVd

L)

amevy 9N IW.Z¢<<u

H-0%bl -Y

Qon JWww—— Lsog «.UJJON\@/

<\

Ti-£%6i-2 &

TIETIE sma NS e * 9 %

-3 :Jn_ O\m’/

\

|

TEi-<ul- 1
A0(N J3A @I - | -

TW-St9l-U & i
FYT) A0y VI WW G \
-~
€9l - ) !
w3 AH ding +5 JAX c.n *\q n..“
E X -méc. 2 41 @\ " r‘“

[rasap

eivd NS IASY WS

151

2 Lv 9l -u,
JMJJCN Mwge

{

r---|.--!— A e

.1

e n

L

©

P ZO0LOIO- 114
SRHdg Feitdoal

¥-956I-

dwWV) 1504 3137110y I3MO0TY

290 ~aANY &

BWNAT BEIBNT LSed VITOY

XT-5961-3 &
FINEWM(MA AN

Y-0¢S! -U»
M a ey d4W3al WWSE

kEEAIRE
b) barg bmiNiviag

q-1L8\-YU »
13dung BVIAOTY  WW St

G

€ -LYyui-{t o
b\ e




a~aw]l, JN ww.h.ﬁ
A

opLmRN”

S -¥oei-Q & )
Q...JNY 4A7°g ¥3a~nons Y ¢ X Av..Q\m.

Y-1<6l - &

CAINSEIN Mg O\A

¥-09bl -y
9] dWivn ) isof AT A

VI

It

) -

LeN2PEQ IWHO0Y BIMOT MW OL @!\

- (] " —

VI -+96i-4

SFSRAteE wwig WNBILNT P

™NO IS AR Wig

1OWHG ¥3 10 suul wwol ...u“
“Fi-v901 -8 ¢ 1/ BiX)
- : Iaag 2/ % 02- -

Q

o1 SWIONY
ok [ H 30"
T+o0! -q e | omesave s seviaroL
W22 grvos| muw ¢ L ona CTaLon SY  wewad
*WNOD ' Mw ey DA Y __uw N $3I065T0-T1 5
AS AN LOBANG) e WIIEY dVNNTY ¥R oy T3 s AL
‘d¥O) s1Oonaoud wemom oL[S¢ LMVd \“ T4 FEEG AR Y
DY - &

V-9S61-49 #
T Y awe=S 135 9303 33mO

290 -aNY &
dW NS IXIINT LS

¥ Jal O“

{71 -¥%0l-I 8

\\T@ SORTuM dwd Jig

AL IRTY

=85 VB L WWw oL

0L

! TR Y

3]
TILITN

=3 6w oL |5k

L

|
b WZ.M ﬂl_z_d‘—.md

121

r

¥ -eLI1-4 *
D ) Tawvwg vaay wwOL

Q) wsRVET

A MM | BV




v et SR et R

o o - - e S -
4y 2/ T S3ITIONV
sco' ¥ s~wwid3g
- - ros/tL + NCiLDvyd4
Q .? T _ /q ‘QHHD Q31'D3dS SSATINM SITNYEIOL
Wl 3,2 31vss| aiva oma TxdoV P wsinia
‘vey .1\1\3&02 OxLloy SH “Tavw
LS Lodtimaned oo wh S oY Jun g
Qx0T SIONCCHd wwse ¢ 9% Luvd
e sdap 2N 4 K ag &
C P e e \ > wIsgY BIANGGS
JAYN -

-wH % &.v\. R

AT 574Tr

A.-JMI ..OMP.N

M-b2uli-"

. o

Wbl

H-1\2| -y

Jio5 ong

Add Yy NOISIABR

wWa&sg

L3UMG voIlIY YN S n.*:NA 2

S

i mmiio e = w M=o .u -

_N-9%b.l-¥ -




T p—— L e T we - T oy g o —
| I 4 SITONY
‘ded™ sCo' + S$Iviioaa
+ Svyd
o - 13 b [ ..q ‘aMHd nuc_quﬁw mmu."z:z%u_.wz.hu..o»
; W2l 22 gwee ow.._.n#.mmun % ‘8 oma - wilt LHSIA QR wsina
) ‘veves ! A rmmuoN Quieu SY v
L LD LoD Q0 175 | nhq aaf>p dpAS
| "dM0D s51oNAdoud oy Lwss- $ILdvd
m & V5 CwWBSSY 3MANKS |
, SATDEDXCTY S ’ WZz\Z = m’ S ..I pW
mr ¢ I) TTusE LY
A i aN.,“v\. LaU29G I Y R 9T Y/
1
TR o —— MI3IB2L INIA207
53 G < T I B X T9 %
Jdanws 2°Qq w>/..dnm/J\l
- l\L . s -
LOSL7¢ _ 2212
; /1 !
/ | / / .
N \ ! / j
' | - < llanl
w\ —7 i -|+ A.U/“ \ ﬂm.lv W—
-— - o + - F
7 f\) /(\ !

N -22bli-X »
LA IS PURVYE <

N

U
U
[

YW-Lebhl-Y

13

Nid 9IS

u-¢l~ .aﬂ\nln { thmw

L4UHS 337 WwW S

g-0Ll-%s
Bug 24CTSs

b-beol - =
- iRk .hﬁd




 ——

ﬁ ‘dd" Sos i stweisaa
{ m -S¥bi- ﬂ aurs | amiaemes sSTINR SUSNwMIICL

” 2,2} 3myas | auve oma | A3 162138 s

: ‘tetey ' apmaofN aulofy sy aLem

! LS A3 lTBN~Nen 2oz eussl celiy $o¥S ' W ¢

“ EAULT SLONSCEd haYiar-y NN 9 1MV

| T SRS ETIASD waSsy a~Nwg |

& gy oy ﬂ Jj-x—(ﬁb
-
[
Y-kl -V
" J 1.
ON 91 X ¢ RE5 L23wns ¢ 2l
; NIid 2NI3dS
i
—— st — -t
m - WOSL2 . 212
PRV
: _
H — - ©— - -
I DT
A | 1"\

H-tebl Y - -
\hltrm N(WW %..N\_

.??&‘u._.qﬂ - NOsSIARYy | W4S




S e AL € A e it e oo
.

R 3IIINY
‘ded*? 300 = (St b Fo |
q ON.V b _ 0< 1 rssi * NOl.Zved
TANHD G320 TdS SEITMN CIESNIMITOL
..lﬁ- - s.Nd MJ(UW- 2170 [>1\Ye] Alwk-ﬁ\x “Q MSINIS
TAmog 'AmumIafy géLory sy LYW

AS LT3N 002
.m,u.d) SLoNJdoud

twumq oLy -dua S
Twwor ¢ % 1uvd

LA
tozais e A T

1 -S“me Y 3 Jnn?.,...m,mlt

mi«ﬂ

AR TCARE A 70T ELTEFE

r

oY .05 2

CEERIR,

~
WIS T7E

13uNg ey guns $ 2 ( €

PRI S—

.W;_ A X%.V\, Nig DNi3dg

n

¥-nI-Y

49D G~ 3




